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Solving Mixed Problems (+ -) Name:
Find the missing value in each of the problems. Answers

?+363=634

1.
298 + ? =960

2,
848=134+7?

3.
815=7+ 278

4.
?=564+ 349

5.
983-1=7?

6.
312-?=246

7.
?-30=943

8.
?=850-97

9.
465 =650 - ?

10.
321="7?-127

11.
991+1="7

12.
?+ 199 = 606

13.
32+ ?="565

14.
25=8+7

15.
881=7+25

16.
?=686+ 33

17.
211-134="7

18.
659 - ? =384

19.
?-677=301

20.
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Solving Mixed Problems (+ -) Name: Answer Key
Find the missing value in each of the problems. Answers

?+363=634

1 271
298 + ? =960

2 662
848 =134+ 7

3, 714
815="?+278

4, 537
?=564 + 349

5, 913
983-1="7

6. 982
312-7=246

7. 66
?-30=943

8. 973
?=850- 97

9 753
465 = 650 - ?

o, 185
321="7-127

n 448
Q1+1="

12. 992
?+ 199 = 606

13, 407
32+ ?=565

4 933
25=8+7

15, 17
881="7+25

16, 856
?=686 + 33

17. 719
211-134="7

18 7
659 - 7= 384

10, 275
?-677=301

20, 978
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Solving Mixed Problems (+ -) Name:
Find the missing value in each of the problems. Answers
[ 215 978 66 77 992 |
719 982 407 17 448 L
913 753 533 271 185 ,
. 662 537 856 714 973 )|
3
1) ?+363=634 2) 298 + ?=960
4,
3) 848=134+7? 4) 815=7?+278 5.
6.
5) ?=564+ 349 6) 983-1="7
7.
8.
7) 312-7?=246 8) ?-30=943
0.
9) ?=850-97 10) 465=650-7? 10.
11.
11) 321=7-127 12) 991+1="7
12.
13.
13) ?+ 199 =606 14) 32+ ?=565
14.
15) 25=8+7? 16) 881=7?+25 15.
16.
17) ?=686+ 33 18) 211-134=7?
17.
18.
19) 659-?=384 20) ?-677=301
19.
20.
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